NOTIFICATION

PhD (Mathematics) - 1st Semester

End Term Result - Jan 2025

S	S#	Roll No.	Subjects Credit Hours Name of the students	Advanced Topics in Numerical Analysis (MTNA-838)	GPA	Advanced Topics in Partial Differential Equations (MTPD-872) Total 100		Advanced Topics in Complex Analysis (MTCV-804)	GPA	Advanced Topics in Integral Equations (MTIE-840)	GPA	Advanced Research Methodology (MTRM-892)	GPA	Total Marks (300)	%age	SGPA	Remarks
-	1	PD-Math-F24-232	Abdul Ghafoor	84	4.00	83	4.00			86	4.00			253	84.33	4.00	Promoted
2	2	PD-Math-F24-233	Sabra Hafeez	81	4.00		•	81	4.00		•	71	3.10	233	77.67	3.70	Promoted

Passing marks for each subject = 60

ML: 1/11-2020-Exam Dated: Feb 2025

NOTIFICATION

PhD (Mathematics) - 2nd Semester

End Term Result - Jan 2025

S#		Subject Credit Hours Name of the students	Advanced Topics in Numerical Analysis (MTNA-838)	GPA	Advanced Topics in Partial Differential Equations (MTPD-872)	GPA	Advanced Topics in Complex Analysis (MTCV-804)	GPA	Advanced Topics in Integral Equations (MTIE-840)	GPA	Advanced Research Methodology (MTRM-892)	GPA	Total Marks (300)	%age	SGPA	CGPA	Remarks
1	PD-Math-S24-021	Aiman Sana	80	4.00			80	4.00			76	3.60	236	78.67	3.87	3.77	Promoted
2	PD-Math-S24-022	Saba Merium	80	4.00					80	4.00	88	4.00	248	82.67	4.00	3.75	Promoted
3	PD-Viath-824-023	Usman Saleem Khan Panni	81	4.00	85	4.00					80	4.00	246	82.00	4.00	3.97	Promoted

Passing marks for each subject = 60

ML: 1/11-2020-Exam Peb 2025

NOTIFICATION

MS (Mathematics) - 1st Semester

End Term Result - Jan 2025

S#	Roll No.	Subjects Credit Hours Name of the students	Advanced Partial Differential Equations (MTPD-774) Total 100	GPA	Advanced Numerical Analysis (MTNA-733) Total	GPA	Elliptic Curve Theory (MTEC-794) Total 100		Advanced Integral Equations (MTIE-735) Total	GPA	Advanced Complex Analysis (MTCV-704) Total	GPA	Total Marks (400)	%age	SGPA	Remarks
1	MS-Math-F24-234	Anam Mehvish	83	4.00	80	4.00	85	4.00			76	3.60	324	81.00	3.90	Promoted
2	MS-Math-F24-235	Ujala Javed	90	4.00	80	4.00			91	4.00	84	4.00	345	86.25	4.00	Promoted
3	MS-Math-F24-236	Amina Tahir	89	4.00	76	3.60			87	4.00	84	4.00	336	84.00	3.90	Promoted
4	MS-Math-F24-237	Raja Mohsin Iftikhar	87	4.00	67	2.70	77	3.70			83	4.00	314	78.50	3.60	Promoted
5	MS-Math-F24-238	Muhammad Tamour	87	4.00	75	3.50	72	3.20			82	4.00	316	79.00	3.68	Promoted
6	MS-Math-F24-239	Muheera Faisal	80	4.00	77	3.70		•	65	2.50	77	3.70	299	74.75	3.48	Promoted
7	MS-Math-F24-240	Aneeqa Iqbal	80	4.00	67	2.70			60	2.00	80	4.00	287	71.75	3.18	Promoted
8	MS-Math-F24-241	Zainab Fatima	96	4.00	84	4.00			86	4.00	94	4.00	360	90.00	4.00	Promoted
9	MS-Math-F24-242	Zainab Hussain	89	4.00	73	3.30			83	4.00	81	4.00	326	81.50	3.83	Promoted
10	MS-Math-F24-243	Khansa Hussain	72	3.20	61	2.10			67	2.70	72	3.20	272	68.00	2.80	Promoted
11	MS-Math-F24-244	Eman Khalid Abbasi	85	4.00	72	3.20			86	4.00	80	4.00	323	80.75	3.80	Promoted
12	MS-Math-F24-245	Imran Hanif	73	3.30	60	2.00	46	0			70	3.00	203	50.75	2.08	Promoted on 1 st Probation (Repeat Failed Subject)
13	MS-Math-F24-246	Asma Iqbal	94	4.00	80	4.00			81	4.00	86	4.00	341	85.25	4.00	Promoted
14	MS-Math-F24-247	Sehar Bibi	85	4.00	80	4.00			81	4.00	77	3.70	323	80.75	3.93	Promoted

Passing marks for each subject = 60

ML: 1/11-2020-Exam Dated: Feb 2025

NOTIFICATION

MS (Mathematics) - 2nd Semester

End Term Result - Jan 2025

S#	Roll No.	Subjects Credit Hours	Advanced Partial Differential Equations (MTPD-774)	GPA	Advanced Numerical Analysis (MTNA-733)	GPA	Elliptic Curve Theory (MTEC-794)	GPA	Advanced Complex Analysis (MTCV-704)	GPA	Research Methodology (MTRM-792)	GPA	Total Marks (400)	%age	SGPA	CGPA	Remarks
		Name of the students	100		100		100		100	-	100						
1	MS-Math-S24-160	Mulika Batool	80	4.00	70	3.00	80	4.00			76	3.60	306	76.50	3.65	3.74	Promoted
2	MS-Math-S24-161	Abdul Wahaab	77	3.70	65	2.50			72	3.20	65	2.50	279	69.75	2.98	3.18	Promoted
3	MS-Math-S24-162	Mohsin Ali Gohar	78	3.80	71	3.10	77	3.70			70	3.00	296	74.00	3.40	3.44	Promoted
4	MS-Math-S24-163	Zunaira Bibi	80	4.00	80	4.00	80	4.00			76	3.60	316	79.00	3.90	3.95	Promoted
5	MS-Math-S24-164	Iqra Batool	78	3.80	66	2.60	80	4.00			71	3.10	295	73.75	3.38	3.46	Promoted
6	MS-Math-S24-165	Hira Shaheen	83	4.00	66	2.60			86	4.00	70	3.00	305	76.25	3.40	3.29	Promoted
7	MS-Math-S24-166	Riha Tipu	78	3.80	70	3.00	70	3.00			70	3.00	288	72.00	3.20	2.91	Promoted
8	MS-Math-S24-167	Iqra Ali	81	4.00	75	3.50			90	4.00	82	4.00	328	82.00	3.88	3.79	Promoted
Pass	ing marks for each sub	<u>ject = 60</u>						•	<u> </u>								

ML: 1/11-2020-Exam Dated: Feb 2025

NOTIFICATION

MS (Mathematics) - 3rd Semester

End Term Result - Jan 2025

S#	Roll No.	Subject	Research Methodology (MTRM-792)	CGPA	Remarks	
		Credit Hours	Total			
	,	Name of the student	100			
1	MS-Math-F23-151	Ayesha Sidiqa	63	3.25	Promoted	
Passi	ng marks for each subje	ect = 60				

ML: 1/11-2020-Exam Dated: Feb 2025

NOTIFICATION

MS (Mathematics) - 4th Semester

End Term Result - Jan 2025

S#	Roll No.	Subject	Research Methodology (MTRM-792)	CGPA	Remarks	
		Credit Hours	Total			
		Name of the student	100			
1	MS-Math-S23-425	Samia Zahid	65	3.06	Promoted	
Pas	sing marks for each su	hiect = 60				